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Aufgabe 1 ‘
P = R —— Quick:
5192
Zeichne folgende Zahlen auf einem passenden Zahlenstrahl ein.
a) c) b)
N RN TR FE RN NN
T e e e e
-30 —20 —10 0 10
a)=—27;b)=1;c)=—11
Aufgabe 2 ‘
P = A — Quick:
5192
Zeichne folgende Zahlen auf einem passenden Zahlenstrahl ein.
b) €) d) c) a)
SR R RN A S AR R R A AR AN A AN AT RN
L L L L O B L L B B B
—23000 —22000 —21000 —20000
a)= —20600 ; b)= —22800 ; ¢)= —21300 ; d)= —21800 ; e)= —22200
Aufgabe 3 A
I = — Quick:
5192
Zeichne folgende Zahlen auf einem passenden Zahlenstrahl ein.
c) d) b) a) €)
N AN NSO AN AT AN I AN AN AN NS AT AN A AN A Y
L L L LA I L B B B B
—600 —500 —400 —300 —200
a)= —270 ; b)= —350 ; ¢)= —550 ; d)= —390 ; e)= —230
Aufgabe 4 ,
PR = Quick:
5192
Zeichne folgende Zahlen auf einem passenden Zahlenstrahl ein.
a) €) b) c) d)
AN A N AN SN Ar N AN AN AN AN A A
[ e e e e T
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a)= 970 ; b)= 1180 ; ¢)= 1220 ; d)= 1270 ; )= 1040

Viel Erfolg!
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